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Popcorn Sharing Movie Night Task
Student Work

This file includes summaries of the “Warm-Up” discussions for grades 3
and 5 and sample solution paths for grades 3, 4 and 5. You will also see

how the problem was changed to accommodate the different grade
levels.



Factors that Students Considered

* What is a serving of popcorn?
* How many servings are in a bag of popcorn?

* How many people will be sharing the popcorn?

Connections to Students’ Experiences

* Students have shared a bag of popcorn.
* Students know that one large bag of popcorn can serve many people.
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This group of 3™
graders used their plan
to explain why they
need 2 bags of
popcorn. There are 24
students in the class
and one bag of
popcorn gives 12
scoops. 12 +12 =24,
“..two bags of
popcorn will give each
person 1 scoop.”




This group of 3™
graders clearly explain
why then need 3 bags
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This grade 4 popcorn sharing
problem indicated that 200
people would be coming to
movie night. This student used
the “22 servings per bag” found
on the package to help solve
the popcorn problem. He also
assumed that not all of the
people coming to movie night
would want the school’s
popcorn but would “[take] their
own”, so he wants to serve 100
people. Using an array of 22
servings of popcorn per bag he
found that he needed 5 bags to
serve more than 100 people.




Grade 4

These grade 4 students first describe their plan for
solving the popcorn problem. They attempt to determine
the number of servings in a bag by estimating how many
“layers” are in a bag. Finding that there are 76 layers
They count the number of 10s they can add to 76 to get
a number over 200 --the number of people who are
coming to Movie Night and will share the popcorn. That
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number is 14, thus the need 14 bags. H —
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These 5™ graders were
also asked to consider
the price of the popcorn
they would be sharing.
The students wanted to

serve 35 people and
there were 22 servings
per bag. They found that
2 bags would serve 44
people at an approximate
cost of $16.00 + tax.
They also note that 3
bags would be about 66
servings.




